FH500kE (3L 3 4H)

TH H 4ok HE  |4HR] PERT| % |Gl AR | R
5 FBWS0KE]| 1 1
5 BHS0KE| 1 | 5 | 4A | KER 2
5 BRNS0KE| 1 | | 4A | B 3
5 BWS0CKE| 1 | B | 4C | BLE 4
5 BANS0KE| 1 | E | 4A | KEH 5
5 BAS0KHE| 1 | EH | 4A | HEAEE | 6
5 HHR50KH| 1 J/ | 4D T 7
5 BHR50kEH| 1 8

FW S0 KH (33 4H)

TH H 4moik HE 4R PERT| % |GRE| AR | BER
5 BANS0KE| 2 | E | 4E | BEEE 1
5 FEHS0KHE| 2 | EH | 4C =IATE 2
5 BEWS0KE| 2 | B | 4a | FHET 3
5 FHANS0KE| 2 | B | 4E | ZEHIZE | 4
5 BAS0KEH| 2 | 5| 4c 22 i 5
5 BAS0KE| 2 | 5| 4B | @RJIGL 6
5 BANS0KE|] 2 | | 4B | &kHIER 7
5 HWNS0KE| 2 | | 4Cc | MEEsE |8

BW S0 KH (3 3 4H)

TH H 4moik HE | 4HAl BERT| % |Gl AR | R
5 BANS0KHE| 3 | E | 4A | FFEE 1
5 BRS0KE| 3 | B | 4B | T&E 2
5 BANS0KE| 3 | & | 4B | =R 3
5 BRS0KE| 3 | B | 4C | #RE 4
5 BHRS0kE| 3 | 7| 4B I 5
5 BRNS0KE| 3 | FH | 4A | EEZL 6
5 BRS0KE| 3 | B | 4B | LT 7
5 BANS0KE| 3 | | 4A | FERER | 8




